MATH 111; HoMEwWORK 3

Name:

Solubions

DuE THURSDAY, SEPTEMBER 21ST

without it.

This assignent is worth 100 points. You will be awarded 40 points for attempting the entire assign-
ment (that is answer all problems). I will then select 20 problems at random to grade, each worth 3
points each. The space left between each question is indicative of how much work you should show.
If there are any problems you find particularly difficult. circle them in red. I there are any particular
questions you would like feedback on, circle them in green. These are examples of questions that
might appear on an exam/quiz. If you use a calculator to help, make sure you ean also do them

1. Simplify each of the following expressions.

rA
Ao+ 1)
(x+1ox-4)

¥ + 107
() 1T
a* 4+ 6 — 40

Answer: o< "Q'

1%+ 18z + 72 - (DC+6X:I—'H2)

(b)

227 4+ 11k~ 6 (Zx B |)(DC+6)
XA\

Answer: Zoc - |

() o8-8 (o¢ —7)(3(-‘&4‘_)_

(-7 xX+7)

xth
o]

Answer;

(d}

(e)

()

(352X )

Gx2 + 135 +5

32 +26r +35 ( 2 Jc+5)(35“’ 7)

22C+!
Answer: o+ 7
—a* 4 10z — 9 3(_7'- |Ooc + ¢
—ax? 4+ 6x + 27

xt-6x =27
- (oc 1)
(2c+)(X-A)

-
Answer: ¢ 3

zd +x? - e - I(xfsxxhi)_
'l — 1223 + 3622 DCI(DC"'E).) T

( e+ X -¢)
> (%-6)7%

Answer:
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2. Perform the indicated operation and simplify.

4 dr+d0 SHabe-1 (20t )(c+0) (DC'Z)CDC'*'l)

(a) 2420 -8 x24TE—30 (DC_+4)(D(— -2) Gc,-kin(_:C-'-b)
2
o
Answer: .8 ’3
(h) dr® = o =3 104+ 3x - e & (L{',x,"' 35(-}—_:_1_) . (5 "._x)(_CC'f'Z)
a® — 10x + 25 at =l (J’»S)—L Cx?’ (x -1 )
_ (Goetd (2et2)
Answer: Cx ’ ( oC - 5 )
(© J?2+5J'--24;:I:2+.T—12 _ (DC‘T'SXJC“?)) { OC - )
a2 —Br4d x =1 - ‘
- (X~ %) (Jc+a)(x-3)
~1E
Auswer: (‘x pq)('x'{'(")
() GoZ + 2t = ! - 3ad — 027 - :}CZ (36'3)(_DC+2) (DC*’S)(‘DC’Z)
=4 22+ 61 — 16 (J‘,-FL)(_DC'?.) 3)JC’L(DC“3)
- (o€ +& )
.____.____-—-’
Answer: 3

Cont.
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T
3r2 4+ 230 + 14 L6t + 1304+ 6 - (BDC + Z)(.X—T?) . .(;I:_L)—

{¢) — . 0
2 +4r+3 x2 + 25 4 1 (DC-H)(DC‘FS) (33&2)(200*3)
(oc+7) (1)
Answer: ( Ct 3 )(Zx‘t‘ 3 )
@ 2.t 7 (¢t )xY)

r+d4 P t3x 4

A A CEar)

2 (x-)

Answer: oC ¢ ( 6I‘H 7)
r= X6
wetmost o (52 S

( o2 )x+6)

Answer:

Cont,
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e )02
~ (A4)
= 2ot (X B —a)
T (o)
S o
pnswere___C(DCAA)
mItl, S (o XoC-7) +6(x-Y)
(- D(~7)

- xt-ex -7 +6 -6

(- \XoX~7)
A
C )
BO. SR
Answer: (o<~ D(x' 7)
9 [F _______f‘___—- 7:7-

ey g o (o-xXAD) GC_—:{)_':
- a(x-?) - 720G
(ot o)
A x g - 71X - &% B (7361_‘_51—1—\8)
(DCJr?XI.’Z)?' " (oer2Xx2)® N

Answer:

—

3 B £ _ __._-3—-—— -+ —'—'—'_'x—_"_
fr—a? a?-5x-0 - x(e_gc_) (6—.JC)($C+‘)

= () +20(F)

(d)

~(6-X XA )
~ DA
Answer: J’C(G" DC)(DU- n

Cont.
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(e) 2 + 8 Zx—’f'zo + 3:1'1_ 4—?1
x?— 4 — 12 .-,:2-}-12.-;:+208 (gc—éXI_-i'?.)(DC'HO)
- 2- — X 2
(x—e)(x«2)+ (X +2)XA10) = Zox - 46X *Z'%
-, o
(5c+10)_+Fx(x©) (e-eNoce 2
= 2(XXt10) _+5X
(-6 XXACH2) M
Answer: (¢ -6Xx—f' Z) (‘:C-‘f" IO)
0 52~ 57
{ A
S A -t
It 2°x 2:3¢
T L 7.2-I,q g q’
= 22-X 1—3;— Boc - B+ 1UX
3 2 | Jc Answer: '2&7
2e+1 x4+ 3 &* s
8) 4:::'—’—;-3:—»7_;::11 dr -7 - ZDC-H ~(L('\‘I:1+53C‘Zl)+ac X
e
- Ze x4y, _*E (guu)(ﬁwc_—?)
(or(am7) X GxT
: Z2oe4) ~ () (Gx-T) +x£i‘_*_‘2 -3 -Toc 422

(oc+ NL&oe=T)

Answer:

(o1 )8k -7)

3 r+0 2
h = -
W) =+m5  Frieos
. 3 A pa
-——'_-_-__—

e -
x* 1(30\-5) (o 5)1

3 1
= 3(ocr) (JCM)DLM

xF (D)

Answer:

98«-\53&1«-757' +75
ot (ocs)*

Clont.
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4. Rationalise the denominator for each of the following expressions, You may assutne all letters represent positive numbers.

9 (4 +3%) 9 5a
2(445%), 939

Answer: ‘ 6 ~ ‘x'

9 (139 - Z) )

A+ (55 -7) 7 oops

Answer: Ej

(b)

a(34-2) 3/
Answer: o) 'd ’LI' Answer: 7K
(c) S %}- () _}_ . ((i)'i—')13
(VT=6z) (JT'+65%) TSk
yAS (.ﬁ-i' 6.5_3&1) 4 b(}'
7 - 36X .
Answer: & Answer:
-6 (B2 - 10J5) ) (S\E;\) J?E—‘
“vEeng) (B-1073) 7 (2a) = "'3_557
- s[ped - 4 YREE
-6 (J5:X‘.—IOJE> o Ohe . .
Answer: -5—('—;6_2 Oﬁ) Answer: i——D_s—,C_lJL_
ped (X+5C) B EST)  (FE)t
T=vF) (oer 5500 ” 15‘ D)
- 5-205+D
(o)) 2 .
Answer: 'x(x— - I) Auswer: é|' - \5\5

Cont.
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5. Perform long division on the following expressions.

(a) Divide 72* +dx — 9 by = — 1. (¢} Divide x* -23:2+7m’2.hy r—4.
T 4\ T4 ZWJ(' :63
X-1) 7ot + b A -4 ) DC: . _5-)23- 4 1ot
T __( :x SO
- M — 3 g+ Tx
| VG -4 C{-QC? 2)
(\\Jt—l\) (416X
- VGt TC
= —(14x?-56%)
s
6o5x
_ (63 -2.52)
752
Z 2, 2
L +63 +
Answer'_z;tﬂ- l\‘\' 2C -\ Ans\if ‘t'qg-*lq’x 25&
o4
(b} Divide 843 — dr +1 by = + 6. (d) Divide 2r* — 9x® 4 22 4+ 8 by & + 3.
Fx*-4Px 1194 20>~ 155 - 45X +137
X46) 8>  ~boc + 1 Xt At -9 42x 4+
~( §x >+48a) ~ (2% v 6x?)
x4t T 5% 4l *F
~ (=& 8x*155) — (-1 5045 -
_— 7 +
284 + | 457‘7 s
- (184 a + \704) -_{'—_(:}Spc—l'bf)l)
13T +&
~1 703 (137 +al))
— 4073
T ) 2
Answer: 51 -q’?x '{-25(-” An.‘sv.'cr'zjtml SI - 45:1
_ Go?
—_1;7_9_5 +137 oC+7

X465 Cont.
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(¢) Divide 82 + 2% — 32° + 1 by 2* ~ 2.

(g) Divide 42r% -~ 33 by T + 7.

2 E‘I-"-.hjc- 43 . ____@}_.%—GL—‘—“\
X242~ AL TxaT) bl T
B A i
oI A —Goe- 93
S ) =
3 420 !
~(3x* _ -©)
20+ 7
.»‘\nswel"?‘:L“t’iboot"5 Answer: 67('—6 *’739('—:7

4+ Zxol

(f) Divide 2% — 17z — 38 by 22 + 3. x*-2 (h) Divide x* + 4 + 2 — 1 by 2+ 3r - A,
> -10 >+ + T '
) =
20D ) 2o\ T S Xonx-5) XLt b L;x |
(2% + 3 ~ (9 x> -DX
4 Gt !
"‘ZOOC '38 _(1'5 4-'?)951-—535)
—(-20% - 30_) 2 +6oc !
-5 — (Zx*+62¢ —101
Q
5 <
Answer: X-o - XA N s .Il‘f' oAl o Yyt

(i) Divide 42® — 7a® + 2% = da: + 2 by 2% = 32 - G.
3
ZO(} 43X+ 7 120

Lo 1o G +2

2o -3 -6 )broc®

e} 1
TP ex ~Gxt2

—(\ax>-2) 2 -G2x)

LOx?+28% T2
"(M) N — (Lox"-eo= ~1°,
6xt+ 59‘-3'1'3‘;‘(”1'72 agx +122

2ot e+ 10 + 753w 6

Answer:

The End.




